W%E(?)%wmqrmmﬁﬁﬁaﬁmar@%gﬁm ' -

: 1k (7).
Choose the appropriate figure from the{&nswer Figures to replace the question ma (

ClCIZ KL

O @ ap qv *@43

S (B) mg (©) fU » D) @

wﬁa'(?)%wﬁwwwﬁﬁﬁﬁﬁam@;ﬂ ,
Choose the appropriate figure from the Answer Figures to replace the question mark (?).-

>\/|< 2

O @ @ av 9

2

@ i
. : ©) v
@A) /v\ @ /\g olV] o \V4
: Q@ ¢ ‘

. ﬁwr#rwﬁa%%q%,a}m%w%mm@} it

A) Trere (B) WEHIHH - (C) FHAR (D) hld

PIANO is to MUSIC, then what is to LITERATURE ? ' \;\,,:; o

.(A) CRICKET (B) MICROPHONE (C) ARTIST . ¢ .:'.:-:' (D) POETRY

G g hifere : |

Ffefem difear : & - 'lﬁﬁmﬁ?{' L ,

(A)" B T @) WO © @ (D) ¥

Complete the analogy : - {} ] ;

'Otitis media' : 'ear' :: 'Cataracts' : i :%:) :

(A) Bone ~ (B) Kidney g (C) Eye (D) Lungs

e ) '
749 UG, N 9O FgER HeI 2 )
7 is related to 49, in the same way 9 is related to : :
' (B) 81 © 77 D) 65

A) 22 ;- £ _"". N

aft a1 Y B AR 3R e ek @ # s i 180 mwm@:&,ammﬁﬁﬁmﬁgm@%
de e , VITT g I ’
@ §hm, L @I g T Ty v oy

‘ ',_ Whlch w ay would 'you face now if you turned 180 degrees to the left éﬂer stai'ting by facing south ? '

Moa oy ‘ [ 1.y \
(A) West (B) b © Soutn’ "1/ B py lgag




ﬁmwwm@mﬁqhw P ~
@ 000 -3TCTT SeITal % AT e i qxtar i |

15000 | 15000
10000
80 10000
5000 6000 =00 7000 0
° L1 | 1500

f&sﬁ@f@z{*
w

O st e ) &

«

b s -0

A) 2.59 Sty
;h) =l B) 28% © 30% (D) 3.5%
© given bar graph shows the marked price of five different products in a showroom. i
15000 | 13000 IO
1
1;)(())(()) g | 000 890 7000 2% - i
=% - il
> 3 2 :
\?fz@ & & & & L
& N
- & &
Cmir ‘ T
. Marked Price () o

If the marked price of the laptop'i§ 15% more than 1§ cost price and the shopkeeper offers a discount of
10% on the marked price of the lapjop, then find the profit % of the laptop.

(A) 2.5% B) 28% 30% . (D) 3.5%

8. )aTeut, o7 3 o ST SITET & | o e v o & 5 el SraRim A 3 S o F e 125 km AR
T ST BT STRUT 35 HC S krn SAC-GRAAT 2 | ST%0T 1 W 31 % SR & 1 FRam & R 2 ‘
(A) <feorafim (B) SuT-uEH (©) sRorgE (D) ST
Arun wants to go to Anu’s home. Anu’s home is 5 km North-West of Priya’s home which is
4/12.5 km East of Tharun’s home. Tharun’s home is 5 km North-West of Arun’s home. In which direction

is Arun’s home from Anu’s home ?

(A) South-West (B) North-West (51) South-East (D) North-East

{
o, Freforfiae i, ST R TR A = S M RUTE | S A T I Ry g 17 F 7Rt T
IYANT ST A ST S e | gy R TEHe | {p ,
féa T 975< : "INDEPENDENCE" S | 2
(A) NEEDED; (B) INDEED ' EENAD " (D) DENIED
In the félic;wing. question, you will find four oth.er fds prowdf:d alongside a given word. Ong: of these
words cannot be formed using the letters of the glven@ord. Identify that word. /

Given word : "INDEPENDENCE" :
(A) NEEDED (B) INDEED (C) PEENAD (D) DENIED
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10.

11.

12.

13.

AL RIS I s

AFRAE | o

FY
1. @Tzomhﬁ@m w1209
B, sﬁﬁsomﬁﬁﬁ?mw
ey -

L & 20% Ry

2. qw’ﬁma‘wm&|/

(A) 3 P orger gy () et Promd 2 STE HAT R
© qﬁwlwqﬁwzmx@% (D) et P 1 e AT 8

Read the statements ang select the best coﬁ@ioﬁconclnsioms that follows/follow the assumptions mag,

in the statements, 3t
Statements : @)

. InaT20 cricket match, the total runs nfille by a team were 120.

2. Outof these, 60 runs were made by spif@ers. Y38
Conclusions - ‘ '

1. 20% of the team consists of spinners.

2. The middle order batsmen were spinners. |

(A)  Both the Conclusions follow 5 (B) Only Conclusion 2 follows =
(C) “Neither Conclusion 1 nor Conclusion 2 follows (D) Only Conclusion J. followsEl a2

e & & s v A g R . T Sl
M%NHFSHRM, NHT g3 | H + rr q/ i
M@N#H I M, NRagq2|_- o " P : 3
MSN#TS &M, N fard| g -~ 4 P % P o
Pt & & =m-ar wsiy 1S, Q #1 frard e 2 ' s

@ Qssa@r F@Q%s @  (© Q$P%s D) Q@S %P
:‘Each of the following quesfions pertains to the given information : ol
M % N means M is the son of N.

M @ N means M is the sister of N.
M $ N means M is the father of N. . _
Which of the following represents the relationship "S is the father of Q"7

A) Q$sS@p B) P@Q%S o ©) Q$P%S D) Q@S %P

"G", "A", "R", |va|’ "I", " T," waﬁmm%&mmmmwg;%ql
Find the word that can be formed using the legérs "G", "A",/"R", "N", "I", "T",

“(A) GRIND TRAIN  F ff;? (C) GEAR . (D) NIGHT .
A), de ™ e o®wm (o
Clouds are related to Rain in the same way as Air is related to : ‘ | .

(A) Cold (B) Warm (C) Wind (D) Dust

- = ——

e -AUT-24 ' Page 4 of 24
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14, RUTCARG 1 o i 3t Aresfrfaa war

FF A,

faram frfara =afvr e 9
A) 8 . (BY 14
Examine the provided dj

A) 8 (B) 14

O Srarm

I:I —> Backward people

it
A > Educated peopley

How many educated individuals are considered b{gkward ?

@ﬁwﬁmww% 21 =afs ST FHTEE-T el €, 26 = f&d
BT TT 3 THTR-T 53 | 36 sreraT, 14 SERp Siie ST R ST S S SHTETCT g &, 15 ®

@ &b

{}
L > R dm %
A"ﬁﬁ‘m%ﬁw %

®
(©) 13

ram and respond to the following question.
O —> Employed people s

N\

® (C) 13 (D) 17°

e T ¥ S 20 RE

Tt afi apfier wiren AT b 3 W vgd €, @eafts s o ST ST ST S 3 THTEICTA 9ed €,
it 8 =afRp T TR 3 THTER-T Ugd € | e cif)haet ST ST 3 HTER-T TGd & 2

In a survey, it was discovered that

newspapers, and 29 individuals read regional language newspapers. Furthermore, 14 individuals rea
15 individuals read both Hindi and regional language newspapers,
d 8 individuals read all three types-.

English and Hindi newspapers,

12 individuals read both English and regional language newspapers, an
of newspapers. How many people read only regional language newspapers ?

21 individuals read English newspapers, 26 individuals read

Hindi |
dboth ~ . .

4',‘\
o)

(A) 10 (B) 12 N CRA D) 8
16. qﬁa@mﬁﬁq e o
| Find the missing number. Iy o e )
13,1,17,?2,21 . N
(A) 9 ' B) 7 ¢ @© 1n D 52 & ?/9,
17. qEit @R L
Find the missing pattern. ® !
C22D, _,C6D4, C58D, C106D ‘ 5
(A) Ca3D (B) C2C3D ® () ccp7 (D) C2C2D
18.  aft alb=a—b, T TR, p=6 3% q=4 A W plq FIHA M ?
If alb=a—b, what is the value of p!q if p=6 and q=4 ?
(A) 2 . B 1z © 10 (D) 8
19. e fafae aﬁﬁaﬁﬁﬁm@, -m@ammgﬁmmﬁmm% " 36
fifta srf 7 ? . e _
(A) s hr Sreafireh FaRiT qT Rt T et agdr  (B) fafi oo Y oed e A guUR A e
() @i gt oft It € ror Bt @ (D) Serfdres yevkw srfafia 2
A teacher tells her students, "Studying regularly leads to better academic performance." What is the
. implied meaning of this statement ?7
(A) Studying has no effect on academic performance (B) Regular study habits improve grades
(C) Irregular studying is equally effective (D) Academic performance is random
AUTS4 " N e (e, PageSof24 ., <. Uldar . e
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ag ¥3 2
3 forogon 3 e o,
20, @ﬁm&mnﬁ\afi|7;3%;wg!mﬁqlaﬁtwnﬂglwﬁ@3mﬁﬂwéﬁm,qﬂm‘ﬁ A H 7 3

ic FHTIIE 7 ;| e R ) g vy, o gu Ry opry oft 7 D) 12

@ 8 et (B) o6 4 A (d) of some more milk

30 litres of a mixture contains milk and water in the rati of 17 : 3. After the qd 1t}orr‘;ilk  {ded to it was g
1 it, the ratio of milk to water in the resulting mixture begomes 7+ 1. The quantity O

. . D) 12 litres
(A) 8litres (B) 6 litres (@) 4 litres ( 84
) | 9T =T =
et Y v ¥ 20% i FwHY vk e € 8,000 7 12 tﬁ.?hm?fﬁ%@ﬁﬁ%ﬂgm A
v e it P e & 2 ) % 8,000 ,.
A reduction of 20% in the price of rice cnables a cusfBiner urchase 125 kg more for % 8,000. What ,
the original price of rice per kg ? 9, w

c 1 . (D) T14
0 9ﬁmsﬁa:raﬂwzo%|m5mﬁ%25%mmgwmmss%lﬁwg & T

o ‘ 2 2 Ly i d that of the |
80 The average of 9 numbers is 30. verage of the first 5 numbers 1S 25 an of the las
3 numbers is 35. What is the 6 number ?

~(A) 30 40 (©) 50 (D) 20
© A 3l B # sitga mitm f_lcioo%,Baﬂtcﬁaﬂﬁ‘ﬁmmmf1560%aﬁtAaﬂTca€raﬂwmfm
AFT 1440\ N CHh ARFE AT RTE? -

The average monthly income of A and B is T 1400, thafpf B and C is T 1560 and of A and C is T 1440. Th.
monthly income of C is

_ 3 ]
(A) T 1500 (B) 1400 ((gfISSO % flsoQL@'/"ﬁt?

- [A
42 3 49 Y GER F AET.(LCM) 3 H.8.T.(HCHSH ST 71 8 @ Ty g
The LCM and HCF of the numbers 42 and 49 are in th€jatio of 299! :f
(Aa) 7:2 (B) 42:1 @ 2:7_ - @ s- .
@Wﬂsﬁmﬁmﬁaﬁ%@%oﬁi%ﬁMﬁJ@ﬁmm%aﬁz% ESiple
% FY 6 TFIS T TR HA B | Y Lt o TS IR IGeh =1 i h |

(C) 200 #, 50 ferefi/eer 360 |, 216 feret/eeT

A train travelling at a uniform speed, clears’a plaiform 240 meters long in 10 seconds and passes 3
telegraph post in 6 seconds. Find the length of the train and its speed.

S
(A) 300 m, 180 km/hr 300 m, 150 km/hr Jm(jg «%‘if
(C) 200 m, 50 km/hr 360 m, 216 km/hr >

90 ferefi/erveT it =rmet & =1e W 35 Hied Sl Wwrmgt % b @Y I IR A H Foha =T §9a rar 8 2

(A) 300 T, 180 fereieer E;J/@D (B) 300, 150 e/ }Cg}%.
b J5

(A) 1.9 qFvE (B) 1.4 qFvs 5 QIS (D) 1.8 VTS
The time taken by a train 35 m long, running at 90 , in crossing an electric pole is
(A) 1.9 seconds (B) 1.4 seconds 4 5 seconds - (D) 1.8 seconds

27. O B F oW el s Sfa Ia T 52 o SN Afeeg RG] w A I T 42 o | AR FAd F
N ofrgd Ja T 50 o, A AT TR st TiTd T o v~ T .

‘L The average salary of male employees in a firm was ¥ 52 and that of female employees was T42. If the
nean salary of the employees was T 50, what was the percentage of female employees ? :

50 ,( ) 20%  (B) 88% ©) 30% . (D) 86%

28,877 ﬁaﬁrmaﬁs%% ﬁw%%mﬁmwia’ru,zoo 3o e ATt g Wl aret safth 1 55
T e ST 8 ?

1 1 :
. If the sales tax be reduced from 3 2 % to 3 3 %, what difference does it make to a person who p

urchases &
article whose marked price is ¥ 4,200 ? @ ) N
\/ (A) T6 T7 (C) %10 (D) =9 Q ,

R T




(G A By

a5 | —<in 5

9—‘ S (\" ,\'?/

R F 2.,.3:.5 " .
29. P2 QI R T ‘Z’_%Wﬁﬁaﬂms”g'u"hﬁw‘%|4ﬂ3‘l?fma,1>%r3m1ﬁ‘f§ﬁ

30.

31.

32.

33.

34.

35.

36.

o 5 8
# 50% T & 6, AT Q F aroeht st
’ 20% T FH 6} | oY OF ad & i O F
TR ? R 28210 F F @™ A Q
P, Q and R enter into a partnership by investing their capitals in the ratio of 2 a8, % . After
4 months, P increased his capital by 50%, but Q decreased his capital by 20%. What isstheihare‘of Qin

tl;e to;al profit of T 28,210 at the end of a year ?
(4) ‘0,}40 ®) T10075 (C) 83,200 (D) %97,500 1= 9°
' A4
A S R e S 15 ¢ 14, AR ey L %D
€ mt‘020f cost pnge and selling price is 15{}14, then the loss percent is % 0 ' ‘Lg
(A) 163% (B), 40% . _g © 0%\ y 10,5 @ 6% L'L°7-3
.l_ _1_ & _5_ Y2 y [ \
36 9 13 =T ST AT (LCM ) SR A | 5t N sP
' Find the LCMof ~, =, 10 -5 il ' T )9
: 326’ 9h18; @ l i/ <5
@) L @ 19}y 10" 13 | [0
4 ) g 'R 3 . ) l
¥37,500 T 4 61 % AT 2% 9 ad o o0 & Gremor Ssrh R AR L » LR ST G
Calculate the simple intgres qn ¥ 37,500 at the rate of 2% per annum for 4 years. A 3 Y Soo ﬁ-
(A) %3500 3000 (C) %4000 (D) T5000 /6P

é‘ﬁgza@zgmﬁﬂﬁﬁ@mﬁ,ﬁﬁﬁﬁﬁﬁzoorﬁaﬁm’mwﬁﬁ18ﬁ=r
() 40TEHR, | (B) 48TSH gg (C) 28WSH @ 60 TS é 4
a

If 72 boys can build a wall of 280 m lengfif in 21 days, how many boys would take 18 days to build

similar type of wall of length 200 m ?' s 3 3
(A) 40boys (B) 48 boys . (C) 28 boys (D) 60 boys

T SR TR TR T 4% T 9 AaT & STGR 15 mﬁﬁ@ﬁaﬁ%m@ﬁ@aﬁtwm 2

359 T TS FHTAT & | @) T HITT 3 SARFaes 79 fed A fha ol e e |
icle free for buying every 15 articles g

A tradesman gives a 4% discount on the marked price and gives an arti

and thus gains 35%. Find out by what percentage the marked price is above the cost price. . M _ ﬂ

(A) 39.6% (B) 40.6% ©) 50% (D) 22% g " \(1/’90 - '“?

2 &9 AN 1 i U 1Y T 1 Hhl 14 AT # Q0 T T € | 4 Tigem Sf 2 ey e 30 8 fedt 4 R Y0

gha & | A TH 1 i R T 600 e &, ot weh afger @ it fo forae firer =nfeg 2 ('P

2 men and 1 woman together can complete a piece of work in 14 days. 4 women and 2 men together can .

do it in 8 days. If a man gets ¥ 600 per day, how mpch should a woman get pergay ?

(A) T450 (B) 480 i} O © T360 (©) Y400 19,

W%WﬁﬁW%m@meﬁmmﬁﬁmﬁ ¥ 60% =g T | A ,éﬁb)@

Ta o Sl Y I B 20% ﬁq@ﬁ?ﬁ%ﬂ% o 7w T S FaT 8, I Moot a8 @R et A S

T & fepeer afmTa ST @ 2 ® : ; : ,_,3

A factory’s yearly budget for the purchase qfy mployees’ protection shoes increased by 60% this year over

last year. If the price of the shoes increased @ 20% this year, then the number of shoes it can purchase this é

year is what percent greater than the number of shoes it purchased last year ? é .

‘@A) ) 331 % ®) 142% pdyp0 (O 48% g @) 140% - b0 -
| (D)ng% D e Lhpr

—

T S - Page 7 of 24 | ‘a .

| | lo ) 460D 7k | 24 7(}2 -

1500 2 -4~ ¥ -
7 © 3 I : (60 (‘?P}?U) -

b ~7¢o@ 00
21220 7g 0 Gap /91 (P -
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37. @ﬁmﬁgmmﬂwws 781 uﬁm@osﬁamﬁaﬁ%ﬁmm -
2 1 g o wrtfores T T 2|
@ 15 e (B) 11 &t ©) 13 (D) 10z
The ratio of milk and water in a mixture is 3 : 7. If we add 10 litres of water to the mixture, then the ratio
becomes 1 : 3. Find the initial quantity of milk.
15 litres (B) 11 litres & (C) 13 litres 7

(A)
@ @ﬁfﬂﬁmﬁ'xmﬁmmﬁm)m4§ﬁ%muﬁm 7oo-a’r____§:?ﬂ‘*1T g & 2 == % 1000 &

“STelt & | A et TR R oft 2 8 vears at a certai
The amount of money appreciates to T 700 after @'ears and to T 1000 after yea
interest compounded annually. The initial amoun#bf money was

(D) 10 litres

n compound

() T490 (B) T410 @) (€)' T430 400 (§)0f470 /D
39. ﬁﬁmﬁﬁﬁﬁw@;ﬁg)m@ﬁq; — L’O@’D (/-
Find the odd one from the following :

(A) 4096, (B) 4913 q(o (C) 5832 Yoch) 3380
40. ﬁmﬁw@amﬁmmmm/ 2.5 I

- -~. Find the next number in the following series :
220, 221, 229, 256,

@A) 10T % 77 (B) 280 - :s(c_:g;j;z 320 é)beo
41. faweaL 1o, msﬁtwﬁﬁ%"raﬁmaﬁaﬁqaﬁ Xtht@nsnaT ; i

Choose the correct mirror image from alternativesd, II, IIl and IV if the mirror is kept at XY.

@@‘@#@m:g@:z

o) ¥ ( ™ | ?,g'é ,6,——

‘,)43

T
I I 111 @ '

A I (B) III ©) 1v (D) 1
42. ﬁa@wﬁﬁwqﬁaaaq:ﬁm%uéésé%%m ¥ | g = Rig & forw wem defR@ 2 2.
o
(A) wdtsTT (B) (C) s (D) ST
Sindhu introduces a man as the son of the@rother of her mother. How is the man related to
Sindhu? - Nk _ ’ I
(A) Nephew (B) Grandson ® (C) Cousin (D) Son
43. THF 65 km/hr Y Rt =rer & a0 Kt 2, @ 198 m o ol a0 0 3 39 fomee o v 2
‘32&: (B) 4w @© 5= (D) 2%
car travels at a constant speed of 65 km/hr, how long will it take to cover a distance of
195 km ?
(A) 3hr ' (B) 4hr (C©) S5hr (D) 2hr
Xﬁ'T'-iZ"\"""""""' """"""""""""""""" -

N R T Tl Vy | i
)\ 59‘ LA B B

L L N
PR O \ o i



Q% 0
L 13 52
44, A% “GREEN" 1 4T F1S 49 #, " “VIOLET” 3T “PINK” 3 T TSt 3h oI i SAHTE ?

6
If the number code for «GREEN?” is 49, then the difference between the number codes of “VIOLET” and
“PINK” is : .

(A) 45 ‘ 33 gg) 60 (D) 55

mﬁﬂﬂmaﬂtm,amﬁﬂwt%%lmaﬁnmwﬁﬁﬁmmw%mm
R, e ——= —

oY, Freenre 3R A | K 1, o 1
Wéﬁmqﬁ@m%lméﬁﬁqﬁm%lﬁq%qﬁ@wﬁlmaﬂtwwmﬁ
QT | Afe 3R SR T AT W S E )

mﬁmﬁﬁﬁ#wwm%? | ® TR N
/fb au— ;gléﬁ S — SetehT, T - aﬁrﬁz & 6“ q e
. A ’l

3, A weE, S - =, T - o .
4 A _<tmae, S - afve, qq el oAl
:ﬂgﬂ;ﬁ%ﬂq Al AR e .
(a) 133 /B) 233 (©) 334 (D) 234 ' \ggr
Three children, Sam, John and Ann, are eating icecream. Each child eats a different flavour from available Qf
flavours, namely Chocolate, Strawberry, Butterscotclﬂmd Vanilla.
Sam does not eat Vanilla. John does not eat Strawberry. Ann never eats Butterscotch. Chocolate and; 575
Butterscotch are not eaten together. Vanilla and Chodolate are eaten together. : é @ ’ ”’ ( 3 7
Who eats what flavour from the available options ? J
1. ‘ Sam — Strawberry, John — Butterscotch, Ann — Chocolate st ‘:‘q
2. Sam-— Strawberry, John — Chocolate, Ann — V. la Al (1) /R i
3, Sam-— Butterscotch, John — Chocolate, Ann — dthwberry A - Qé &
41‘;.., Sam— _Chocolate, John — Vanilla, Ann — Strawfletry : @ o\ /

{ Which of the above could be correct ? , q\
(A)! 1and3 j . (B) 2and3 (C) 3and4 (D) 2 and4 ‘

s, TwomERaP e T TR o el _— T L S A
Choose the figure in which the question figure (X) is embedded. C V! o
| (@B 8B |

| (54 BN A

X ‘1. | R 11 A%

S @

47, ﬁq%ﬁgag@wﬁwwh@rmaﬁﬁm

Find the next number in the following series :

140, 12\)0 50, J

@iz 07 oY ) 10 S ©o0 _ @) 10

____-_______.-______-_._-.-_______—————-_-—.... _______

T e e N S Page 9 of 24 £
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48. aj@an:jJNR_ﬁ,mmam-wmn

In the seriess FINR _
(@

49, fAHfaRad

®) S
e
@
2

What comes next in the following sequence 7g3)

;srrﬁ‘anﬁwm%_?

B,CEG,__

?

L tt

which letter comes next ?

%
® -

© U T

1%

'(4) H | ® T /@K ;
50. 3@@@&%“@%&1 ' . q%
" Find the next one in the given series. % Y ¥
&1 TS o ¢ (E £y | %
~ Given series : : \ ']/)(0))( .
DEAWE v
e H:
o «GEFQ O
{ . ; < (t@i) é\
{ ( 51. -ﬁnﬁmﬁﬁﬁgﬁﬁﬁwmﬁ@/) G % _5
Ll Find out the number of triangles in the given figure. g ﬁ—?—/'
N+ "4 y
S ol 256
< G
;!
B) 10 o ©) 20 | D) 12
52. it ot Forama & e et (T £2 © A q
How many r&taig_lggq there in the chessbo:hﬁd ? 7
T
- - < |/
- - ¢ q
(A) 1296 (B) 1208 (©) 1298
________________________________________________ (D) 1000
S Page 10 of24 T TTTTTTTTTooommommeeo-o-es
" A B




@

54.

55.

36.

3.

' (A) Il % ©

P <D & 9
ﬁﬁﬁmw@

Find out the next figure in the above series from the options.

P -

et
I D) I
e e e Rt o s AN — o
Study the figures given below : g
N )

K AN apX JgK. ARk )

A3 R e Rt 3-8 v R e o s R g st o o v 3 R el

From the figures given below, choose the figure that will be most suitable to continue the pattern given

- above :

. m -
2/ ellella]lly
g (@O v v T v
A) II (B) III © W D) 1
RRESRINAE » % ’
HSEAT : TARS :: AL : :
(A) AT (TF) (B) W%s (©) wRawh (D) &=
Complete the analogy :
Fish : Gills :: Human : < '
(A) Liver (B) Lungs (C)_ Brain (D) Heart
frferRa 3 & Wi & -8 SIS o1 § Hed 3ifereh ¥ § ?
(A) T — ST (B) F=r— T (C) - AT — e (D) WY - (&
Which of the followisng pairs of words are > most similar in n&mng ? :
(A) Stop-Go (B) High—Low (®) C@ — Smile (D) Start — Begin
WS U Y I S YR (39) F FHHIR Th q0ae T ST &, AR 70 M (e
TSAATR, ﬁqﬁunﬁmwm@mw)mmw% —_— -iq—qﬁ
@A) e (B) wEwH © TF ¥ (D) <rHaa

When a cone is sliced by a plane parallel to its base, but nq@passmg througii ifs apex, what is the shape of
the resulting cross-section ?

(A) Hyperbola (B) Parabola (©) Circle ; (D) Ellipse
“TE T JAHIH IR - 2 — &
A ™ (B) =T (©) 7 (D) fremT

- . - - o ———— - ————— = == — = =



\

59. R FHIwiaaE e R -
(A) e (B) = (C) T (D) TR
60.  HTAT I 1 7, 6 T W T ¥
T HTRT STR , T+ hT HFh] 3T |
AR T FTAT STEFR D 2
w I (B) 39HT ©:FF . D) Ih
61. “foReft <t wrETIAT A AT W fU TH IR R |
(A) W& (B) WeR (C) TEFR - {{D) wEE
62. ToRe TR o 0T e T T TR 2 ®
(A) g T 3 forg @ @ | W | (B) wErGTEmRY| 3
(C) WYY AT Ffer & fi gereeht & | (D) 8 J&h HiaT H1 <
63. mﬁ%amwaﬁaﬁrﬁ%am/ ®
(A) =i+ fe B) s+ Rl ©) 3+ ffda (D) 3=: + ffed
64. %ﬁuﬁamﬁaﬁr%aaﬁwwmméﬁﬁﬁmw%?
(A) wETEs : (B) TRt
© %ﬁﬁ#ﬁ?ﬂmw%m (D) ST E&Hf
65. Ty fFa W@ H TRt yE 9
| (A) EEH (B) ©) K {{D) drem”
66. Tl W FagaR: & |
(A) waNT (B) wwEd (C) 'wdm t ) &
67. fetrg T & U ad qeew ®
(A) R ® frsae ©) R %b) Rrc e
68. T —HIq’ IE-T T el fyheq AT N
(A) SR -7 (B) EHT— TSl (O TI-Eh (D) 3 -gfa
69. M — 3T Toa-q T TR A R
(A) WEH - (B) wElt -« ©) i — gt (D) ¥ — e
70. T TGS € 1 H HHFLGrAR ? b '
(A) wHarT o= (C) TrRamET=r ~(D) Hgar=T
71.  fr=fafaa § @ SH-a1 s qeaw 7& ® 2 alclt
A) = (B) & © 7@ D) EH
72. @it TS 1 Afaeiud i 3 e S fomes & s Sifv | ®
HET STt Rl STTEATCH T ABTIA S| b
(A) TEAST I AATH I TDIIAR (B) uﬁasﬁaﬁaﬂm%mm% e
(C) TEQ St Y ATEATAH T =BT TH 2 (D) W& STt ol STeaTaw fw?sﬂsﬂﬁ
73. Fefafead yeawad: —
(A) ﬁmﬁwﬁﬁﬁmqﬁﬁmmﬁ| (B) mﬁnﬁwmﬁm/ p
(©) @&mwﬁﬁﬁwﬁml (D) mﬁﬁh%aﬂ%ﬁqml 1Y T
Xﬁ’r’-ii""""'""""'"""""'""""Fa'gé‘fz'afii """"""""""""""""""""""



S e @Ew o (o fRmw A 7
e (1) T (B) Wy Q) W (D) e
e R R § S
{5 fertor ®) o (©) T fardieer (D) ™
@ SEwE o (B) FREIEE, (©) S (D) Frerr g
- () (B) wfesr 4 ©) =t @ T
fargr R EifeiT saiw | ®
e » fgh @) fEm g (C) THt (D) TRER
(A) ¢ N ®) (?) © ) L@ )
%i"f»" 2020 3T TS TR e TamTehi T foam e 2
i isz(A) aﬁwma&% B) Hembrgss 0 (C) FEmEE (D) firara i
sfercrsioss foram
Tieteh fora
g’g;-'.g\anfﬁugmaﬁwaa 2
@ eEst ¥ et g (o) @ (D) TEFd
u. ‘mﬁvﬁm’m)%w% @7
. (A) STETTE (B) THEXYFA
(D) et yae feadt

(C) AN FAR

f’?."f'_’ﬁmﬁwﬁﬁaﬁqmmwmwm%o/
() w3 B) 31— X\A/

et 3 THIRY — STETaHITRY :
() FomwmE (B gelife (C) dgeyEmE (D) TEEIH
. Fmashewr R e=sac? @ 5z
. (A) TarEE (B) 3T g (C) GhEm=AT | - (D) wewd aut
B, o 3y oryepref aredt 3 P i & Fg) U 1% 78 I
- » weft (B) ? ® (© ﬁéﬁ (D) ST
B T SR E |
: (A) AT (B) S@ (C) STk (D) &A™
e Lt LT e T e A3 0128 L L. e



X. 9. 909 94 eI U : )
TSTHTST T o7} i1 41 TS Wﬁuﬁmmmmmmg@,@m%lng%ﬁmlr
%Wmmﬂlﬁm%mmmm%lmﬁﬁwélwwmmmm
mm%Tﬁ%gﬁﬁmaﬁW,m%lwﬁm ks m%l :
AR 7 W &) T &, T a8 A1 v i o Q) Tt & | fobelt T 37 & ST ;ATER i % kAl Wﬁ'i‘ﬁ,ﬁaﬁ 72
mﬁfimfﬁ?«ﬁm&w&é}ﬁﬁﬁﬁl14W,1949§1@_m¥m1?ﬁ5' uim@g T T
%(iﬁﬁm:raﬁumlzo%aﬁi&‘mw%ﬁ%ﬁﬁmaﬁﬁﬁﬁﬁmmﬁlsrmzlo%eaﬁ s Wﬁaﬁt'
mmw-wmﬁmm%ﬁﬁmmﬁm@amélww%ﬁ
%ﬁmaﬂlmm%mﬁﬁ‘%ﬁﬁ’ﬁmﬁﬁmﬂm%lmsmﬁwﬁ
= vTST 6T TN A F & R R TR | G)]
90. Wﬂﬁ?%w&%ﬂwmwﬂi%?

(a) = v @) AR TR

(C) TfRoreht T ™ 25) it aft ATt W

91. e IRt ToT Y Rsp strt s ohY TR HATET © 2
A) Wt ©(B) Tl ©) =

92.  TIINT I @ T & & T § FIA-AN TN AL € ? .

' (A) T SH AN & (B)’ w&%&naﬁrwe%w
(©) mﬁwwwﬁzﬁw_%/ (D) aﬁwﬂﬁﬁz‘m%

93 femdt vraT Y sircee e fovr o e ST EE & 2

(A) 1948 (B) 1949 - e
94. wag%awﬁw%f@aﬁ%:ﬁmﬂﬁgﬁm o
(A) ST ST » €B) ST
(C) SA=Tet sl 9T | _ 2D
95. SEdTH ST HEAT Jid il : 59, qg%’z@ 1 £}
Find the next number in the series : \ = ()
s7,43,20,15, . 1% 1
A) 1 B) 2 T (© 3 (D) 0

96. dHfi A, B 3 C T Tiieier ©fea ¥ JRT 3 et 36 F € TR F: 24 FHUE, 36 hvE HNK 30
| Y i uE a0 A € | T fire 3 ae 3 v foig e e e 2
A) 5fre (B) 6fFe (c) 8fme (D) 12 e
Three friends A, B and C start running around a circular stadium and complete a single round in 24
seconds, 36 seconds and 30 seconds, respectively. é}fter how many minutes will they meet again at the

starting point ?

(A) 5 minutes (B) 6 minutes ) | 8 minutes (D) 12 minutes
97. Uzt 3R A I TAWH 1Y FT & Al AT 7 3l 839 | :
Ezgﬁ?ﬁ@ g \,/_Eiif CIERIn) %aﬁtajﬁﬂaﬁm&lo%aﬁm
(A) 409 3T 44 @ 329¢sisead o
(C) 44948 ad @) 369 AR 4099 :
%at are the current ages of Antony and Betty if tif@r ages are in the ratio 8 : 9 now and will be in the
Eatlo 9 : 10 four years from now ? /—\
A) 40 years and 44 years B) 32
years and 36 years
L E?Z__é_’fii_)'-e_aff _a_n_d_‘_li_i years (D) 36 years and 40 glle ’8 \ : ‘
AUT-24 T TPagetdof2a T I TTTTTTTTTTTTT
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7

o8, Y35 fier ey TR fore et e 36 i = g o
v (A) W@re - (B) T wire /@ g A (D) U=

Which chart type is used to represent the Ef}iationship?b‘e‘tween two variables ? , ' !

(A) Line Chart (B) Scatter Plofp (©) BarChat ~ (D) PieChart .
_ , .(} | | Y Y
g0, Pt anferen et gpe il s e s et 1 o e ah i

z S © \05/, "(’;

4AH | 7AH | 32AH | 35AH | 55AH | % 5)4 (,D ¢ %

1992 | 75 | 144 | 114 | 102 | 108 | 543 "Qb L G

1993 | 90 | 126 | 102 | 84 | 126 |528 G LO "%0 1%

1994 | 96 | 114 |, 75 | 105 | 135, |525 ) 9 L UV

[ 1995 | 105 | 90 ['150 |' 90 |L¥5 | 510 _5 D
1996 | 90 | 75 | 135 | 75 [0 | 465 g » L

1997 | 105 | 60 | 165 | 45 20 | 495
1998 i _ . e - PR ‘b
115 |- 85--| 160 | 100 ?45 60s| , lerq,
g v B o e el B ? 26 UL
S :
(A) AAH (B) 35AH (C) 55AH (D) 7AH Wt q,o
{ ’3 l;‘

The following table gives the sales of batteries manuf:actured by a“’éompany over the years. 0
Number of different types of batteries sold by: a-company over the years (numbers in thousands), % 5
Types of Batteries ,,
Year < _D
4AH | 7AH | 32AH | 35AH 5pAH Total - : _
1992 | 75 | 144 | 114 | 102 | Jp8 | 543 ‘ (0 D) .
1993 | 90 | 126 | 102 | 84 | $6 | 528 1L 6/
=i ;
1994 | 96 | 114 | 75 | 105 | @5 | 525 ‘ [ 3G
1995 | 105 | 90 | 150 | 90 | @5 | 510 : Y5
[(™) i O
1996 | 90 75 135 75 0 465 9 O
1997 | 105 | 60 | 165 | 45 | 120 | 495 ~ | 1 (
1908 | 115 | 85 | 160 | 100 | 145 | 605 | N q
Which battei-;l' has the lowest total sales across all seven years ?
(A) 4AH (B) 35AH (C) 55AH (D) 7AH
e " SRS LR




00 .qﬁ'MarNamanf%M,Nﬁm%.l 1

102.

103. :
; A ? - i '
(P sferor-afim ©) TTE

104.

105.

106.

(A) 10-8-23-25

'For a clock with oth hour hand pointing towards the

M- N#H &M, NFE R
M x N 2 M, N A& R Y
ﬁmﬁﬁm.mmm%ﬁxm@XW TET by xxZHY

) YXZ+X fi) ZXX+Y (C)i’XXZ—Y
IfM+chansMis thd sister of N. vV

.
2
M - N means M is the brother of N. '{iﬂ 2
M X N'mieans M is the daughter of N. ©) .
’ der is male ?
which of the following shows the relation that X is the taternal uncle of Y, where XXS f"zﬂ+ Yl
(A) YXZ+X (B) L ZXX+Y . (dgxxz—'{ L
Y X A : »
p QFTWER, SIRFTEARIS, THIMER AT, QAW RIS, Qaﬁmmﬂa‘ﬁmﬁ?
A ®) © . o fQ.Howis S related
P is the brother of Q, who'is the sister of R. S is the brother of T and T 18 the mother oI &-
t0Q? g i
(A) Nephew (B) Uncle (C) Aunt " %’E‘I‘ece
4 JUNE —> 10 - 21 - 14 - 5, AU JULY L [0, 1 l l )

pen JULY will be
(D) 10-21-8-23

s e 50 3 1 e g o R L2

If JUNE — 10-21 - 14

(A) SaeafEm (B) I _
!ﬁ%ﬂst, the hour hand at 1:30 points towards -which

direction ? S ,
(A) North-West B) NbMnEa  (C) South-West

ﬁﬁnﬁmﬂ,mﬁq@%mﬁmmm%ﬁmﬁwwaﬁ%ﬁm
‘ 7o : e (&)

D) South-East

SITQT - — ‘
(a) T (B) T©) T . O

If Sunday is coded as January, Tuesday as March, Thur{s?ay as May, then Saturday will be coded as :
(A) Auvgust - (B) Aprl (Ch July | (D) June

mergi o WY A 2 el S & A R i delnffted 3 & e 7

(A) fefrcme) @ (B) T ©EEL (D) HERE

"Clock" is related to "Time" in the same way as "Map" ) ‘related to which of the following ?

(A) Location (B) Travel (C\fr Vehicle (D) Cartography

e wfor 2 & e & e o @ e e 26 s R ot & Qe gt A o 8 AT
(&) FfasEr (B) dwHATET ’

© wfrd R . (D) fereger wifer fSremm s

If Mani is taller than Tony but shorter than Deepak is j .
oy epak and Tony is just as tall as Mohan but taller than Gokul
(A) Shorter th ‘ E\ )
©) Shortorthan 3: : (B) Taller than Deepak pin)

n (D) Just as tall as Mani T"W‘}.

- - -
- -
- - - - -
- -
- -
- .-
- -
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107. FERem & & s v wa AR .e—"

Find the dissimilar number from the following :
16, 256, 63) 624,/1024
(A) 1024 (B) 256 (C) 64 (D) 624
108. Fr=feiRe & & aramm dem wa i - &

Find the dissimilar number from the following : {}

1331, 2197, 4913, 5832, 6859 - &
(A) 1331 ®) 2197 EC) 6859 (D) 5832
109, TR TR o mOWWaﬁ%zhvmsﬁr@Sa%maﬁaﬁ% ¥
A) 7" (B) q@ﬁg (?’CC) A ’ Py ' (D) EiEeiiie g
The renowned mathematician known for discovering the sum of the first 160 natural numbers is
(A) Gauss (B) Euclid (C) Newton (D) Pythagoras 96~
110. FATTREa F & 545 x 545 — 125 x 125 T ARG TR ? o l@'}O
. o 156 1<
Which of the following is the output of 545 X 545 — 125 X 125 ? /4,@/
(A) 285400 281400 (C) 287500 (D) 2865007~ |
1. A,B,CIRDFHHFEATARE| A, C 3B, D‘é'@fﬂﬁl D, C ¥ ot 37t & Rt e ot AR 1T
. DEIHs R ? | }‘
@A) = B) W (;:50) ufim D)
A, B, Cand D are playing a game of Carrom. A€ and B, D are partners. D is to the left of C who is
" facing east. Then D is facing : &)
(A) South B) North &QC) West (D) East | - \

@ﬁw&f@aaj@maﬁ é@qaﬂtmﬁ%ﬁqﬂqqamwﬁﬁm >U 8>H—*9/bﬂ‘)/

CS1%E721!@*#@AT1* #>8U> Iy

I siEeT o1 gEU 9T 3eTe AT ST &, A et TR F AR TR A AT R 2 — %
(B) = b v

—
A o B) 2 ©) 3
Observe the following series carefully and answer the quéstion that follows.

C$1%E721'@I*#@A7T* #>8U>
How many numbers are followed by an alphabet if

ﬂ'ie second half of the series is reversed ? (L

A 0 B 2 {{o) 3 D) 1
113. ﬁamzom@rmﬁm‘éﬁm%maiq\@fﬂéﬁ?ﬁ : Hrafagl

India’s Gross Domestic Product (GDP) grew by s in the quarter ending September

(A) 8.0% (B) 8.5% @) 9.0% ®73% o
114, tﬁf?ﬂmq%ﬁmwfy ((?) ‘ W

(A) 4 fire 25 @S }3) 6 fome 15 Qv

(C) 8 e 20 &FTS (D) 2 fime 30 TFvs

The light from the Sun reaches the Earth in about how much time ?
(A) 4 minutes 25 seconds (B) 6 minutes 15 seconds
(C) 8 minutes 20 seconds (D) 2 minutes 30 seconds

.AUT-24
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115- ‘="‘El'quﬁWMme%mzmrr«ﬁﬁm%m%:rc@qtmmﬁa%?
¢ r(A) WW (B) TSI
N(@©) stefrn (D) s T SRR

The Indian Constitution provides for a parliamentary system of government. This system is based on (e
modcl of which country ?

~al i (A) United Kingdom B) Canada
. (C)  Avustralia dD) United States of America
116. MPC &1 T &q 2 | :
S (A R R %Y . @ZB) AT T
- (© WAwmEstd gn) A diferdt et
" The full form of MPC is )
(A) Money Policy Committee @B) Making Price Committee
(C) Monetary Price Committee (D) Monetary Policy Committee
~117. -ﬁwﬁﬁwﬁmﬁm%? |
(), SR fEm (B) T & I
:g:h) Ag e frm | _ (D) TEHd AT
e book Vinaya Pitaka is related to : :
(A) Thoughts of Zoroaster - / CﬁB) Preachings of Mahavira
(C) Rules of the Buddhist Sangha {3{‘D) Sanskrit Grammar
] 118. GDP%a#maﬁtaﬁm%%qaﬁqmﬂmﬂa{ﬁ'mﬁﬁm%?
(A)  Tora dETeT ; ZB) T wifereh! wEied (NSO)
{ (C) e i o fafr < (SEBD) @D) s fistd s (RBI)
) / Which Indian organization is responsible for calculggjng and releasing the GDP data ?
g - (A) Mmlstry of Fmance ® B National Statistical Office (NSO)
© {Securities and ﬁxchangc Board of India (SEBI) (D) Reserve Bank,of Indla (RBI)
119, ‘et e v e g s s wfe R o aft §2
‘ (A') fErdeTE ¢ (B) wEEEE . (O mﬁ@ta@a@ﬁr (D) et AR
& Which Russian author is famous for writing the psychological novel “Crime and Punishment™ ?
~(A) Leo Tolstoy (B) ‘Anton Chekhov (C) Fyodor Dostoevsky (D) Vladimir Nabokov
120. anﬁaaﬁrwwﬁw% ? s g
(A) amzmg . (B) W=Re M0 SILUe (D) Tt
What is the capltal of Laos ? ) )
] (A) Kathmandu (B) Muscat #4(C) Lima " (D) Vientiane
121. aﬁ?mwu@ﬁwaﬁtfﬁwﬁﬂw%%ﬁrﬁm% ?
( (&) femmmRETST (WTO) &P ST THT HIT (IMF)
l () aﬁd@fﬁw:rﬁm (BIS) (D) fou S
Which orgamzatlon is responsible for smooth and predictable trading across the nations ?
(A) World Trade Organization (WTO) (B) International Monetary Fund (IMF)
----- EC-IE_ _]-B?f%c_f:or International Settlements (BIS) (D) World Bank
7o 7 A o et P ik iy e it ek AT T Y
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122
What is the GST rate on mobile phones in India ? i
@A) 5% B) 12% ©) 18% (D) '0% ,
g3, She e 3 e wer ¥ 2 o
How many members are thgre in GST Council ?{}
(A) 30 33 £ (©) 40 (D) 25
24, STTEUTT T Y& ST HRTE ? g ' A
(A) T QT T = HAT - @ () W s
(C) T Sl T AT g (D) 1S g @reHl '
What is the first step of research ? 4 BT
(A) Selecting a problem (B) Finding a problem
(C) Identifying a problem ' (D) Searching a problem
125. 18 T A 377 3 AR oh Wt AT FHEA @ | :
(A) T ARGHR (B) T iR (C) I AR (D) #HE AR
All human rights of a person below the age of lﬁjyears are known as . a8
(A) Child Rights (B) Special Rights 4 (C) Legal nghts ‘ (D) Human Rights -
126. TEw =TS e YRR T S oft 2 ® '
(A) HTE 2004 (B) Sad 2004 g:) (C) Sl 2006 (D) W= 2002
When was Micro Irrigation launched ? ‘
(A) March 2004 (B) January 2004 @) (C) January 2006 . (D) March 2002
127, ST sifea T AR T & 2 y e .‘
(A) gﬁ@g‘%’ (B) T i (©) deweuEs - (D) IFZ AH T/

What does the acronym ‘TBT’ stand for on social media ? A JEE 9
(A) True Blue Tuesday (B) Today’s Best Thing (C) Throwback Thursday (D) Text Back Time

128. CRISPR-Cas9 Senfiieht mmw@mm @m%

(A) S T HaTET 5 (B qﬁwr&m‘ramwgw

(C) ¥R =T AT ST &% (D) AHwAE ,
The CRISPR-Cas9 technology is used for : ® _ )
"(A) Editing genes #  (B) Synthesizing new materials

(C) Detecting earthquakes @ (D) Creating vaccines

129, Tefiy we feew 2024° 1 e (o) ®TR ? @

(A) e I O FETIRL. L L (B) waa R

(©) e Rafti 3 ferg 7 shrenfirierat (D) ﬁrﬁnﬁmm

What is the theme of ‘National Maritime Day 2024" ? ) ' * )

(A) Navigating the Future : Safety First (B) Sustainable Shlppmg

(C) New technologies for greener shipping . (D) Amrit Kaal in shipping

A rtade Y . [ ittt wiioy



130. qﬁmﬂf(ﬁﬁmmwgﬁaww%? TR
(A) SEr=mT e ¥ g
- (B) W@W"Dﬁ‘amﬁaﬁtﬁmﬁﬂa?ﬁjﬂaﬁﬁ%ﬁﬂ

@ 3ifer S g & g %
HIH 3 @RS e 3% e ®
What is the main goal of a pre-trial conference 2; af

(A) ‘To conduct jury selection

(B) To prepare for trial and discuss settlemenggyptions
© To render a final verdict

(D) To dismiss the case

131 wmma@ﬁmmmm%mwwawm Sefie T, TEAH

0 A1 TRl oy Wb & R yaT Hr R R |
NIRESSIE) (B) e = (C) Fezwe el (D) HEeil- e
is the act of intimidating, harassmght, defaming, or any other form of ‘mental degradation

through the use of electronic means or modes si¢h as social media. .
(A) Cryptojacking  (B) Identity theft @ (C) Credit card fraud ~ (D) Cyberbullying

132. sifersa oY 3firek srefsrareonst) it srpR A mi@ﬁmﬁsé?ﬁ@ﬁ (wTE) Y T AT 8 2

(A) & 1t TR ST Aol F S SRAIGREETE | n T
(B) ¥ TN, ScuTaehaT i1 31iier farenma i SRa sar & |
(© 7 dfts sl Het ol i T ® |

(D) I ot A it i afaeanfia war e |

What is the role of artificial intelligence (AI) in shaping future global economies ?
@A 1 widens the gap between skilled and unskilled workers.

: (B)! It drives innovation, productivity and ecoagmlc growth.
(C) Itregulates global economic slowdown. &b | e

41|

(D) Itreplaces all human jobs. &
133. mﬁmw%mﬁmaﬁrmuﬂ%mm
A) w1 (B) SRSIet @ - (C) IFEHaETE (D) =rqRoT
The first successful instance of Satyagraha led b 0y Mahatma Gandhi in India was :
(A) Kheda (B) Bardoli : (C) Ahmedabad | (D) Champaran
134. A BISN AT e STaTel # [ FohdT 1T o7 2
(A) ﬁﬁqﬁﬂ? - , b (B) Gr%ﬁnamz{mqrggu-
(©) TR _ (D) TTEF T
The Quit India Movement was launched in response to :
(A) The Cripps Mission (B) The Jallianwala Bagh massacre
(C) The Rowlatt Act : (D) The Simon Commission -




135 A Wﬁ?mﬂiﬁawwﬁamaﬂtwm%%ﬁ,tﬁmﬁmwi .
(8) STI=3 2 (B) 3Tq=dq 3 ©) T4 (D) IR L

Which Article of the Indian Constitution provides for the formation of new states and alteration of areas,
boundaries or names of existing states ?

(A) Article 2 (B) Article 3 (C) Article 4 (D) Article 1

136. T 1 A v & oot oo o et ool Aot d TR A SRR E
®) ®) i ©owmw . O .
Rabi crops are sown in winter from Ot‘{gber to December and harvested in summer f¥om April to
(A) June . (B) May 4@)‘: (C) July (D) August

137. TAE TS gET T W Ry O |
(A) EaT e S R e @

- ® i aem R Rt war &
(©) JTdare-fatieht 3l staror- R stfirm semT
(D) SATIST " ST T e AT
What is the purpose of the National Security Guard in India ?
(A) To oversee border security
(B) To regulate the financial market ‘
(C©) To conduct counter-terrorism and ant{-hijacking operations
(D) To manage disaster relief operations .

138. FATHRER 3 & e ware e & srcfiged & R Rt g 2 A
(A ToREReiFEEE (B) WM ® (C) TE2H (D) e AHEETES

Which of the following substances is primaggly responsible for acid rain ?
(A) Sulphur dioxide (B) Methane G)] (C) Nitrogen gas (D) Carbon monoxide
139. IF-ET 3 YT St b ST oh Hordl 1T S & 2 . |
(A) Y (B) W @ (C) afiror ThieHT (D) ==
Which country is the world’s largest producer of wind power ? :
(A) Germany (B) Bhutan (C) South Affrica (D) China
140. TR 3 SIS & (S 2024 Toh) 2 : s 3
(A) it =@, T stard B) o IFraEg NI ’
(C) it ediex wam - (D) S TS
Who is the Vice President of India (as of June 2024) ? s,
(A) Sh. M. Hamid Ansari }j (B) Shri M. Venkaiah Naidu
(C) Shri Dharmendra Pradhan ip (D) Shri Jagdeep Dhankhar

141. 2016 ¥ anaia m-wmwwga%ﬁ%mﬁww% 9
Q -

(B) RHTV-HH & Shi T g“
© wmmTE G
(D) TfTeh TRHT] S, STETTchl SATcroT (I HaT HeAm

What is the purpose of t
(A) Ban on nuclear energy usage
(B) Establishment of a nuclear-free zone

(C) Joint development of nuclear weapons

(D) Cooperation in civilian nuclear energy, technology transfer and safety standards




142. Torelt 83 % siag : :
IR ST ST hi SATATSITE ShY g AT @ () T

1(\‘2) TgH (B) ST (c) et
ovement of people in and out of an area is called : ‘ jgration
(A) Death rate (B) Birth rate (C) Growth rate (D) Migra
143. e qRe Rrafremerr (AMU) 2 wormaar R o obr T oft 2
In which year was Aligarh Muslim University (AMU) set up ? 0
A) 1877 (B) 1875 (©) 1901 ()] 192m%?
144. Wmmm_mwﬁﬁgwwﬁﬁm@ﬂwm%ﬁﬂm ?
(4) ToTEft (B) TATRIST © {W ) . 1¥D-) in Hindi and Sanskrit
Which city in Uttar Pradesh is known for its educationdl, institutions specia 1ZIng
languages ? ® '
; Lucknow
(A) Varanasi - (B) Prayagraj (C) 3Kanpur @, ; :
145, ﬁ-mwwmwﬁmmmﬁw%tmm%aﬂt%ﬁ 1998 & anifefes fomm #
ST R e o @ et &
A) FETWER  (B) wEETRE () T TH O P
Which Indian economist is known for his work on welfare economics and received the Nobel Prize in
Economic Sciences in 1998 ? . : B ! S
(A) Jagdish Bhagwati (B) Manmohan Singh - (C) Raghuram Rajan (D) Amaﬁya o
146. S AW R dmw A Rt i .
(A) ufirel s ®) SetRme  (C) {EER (D) WA S
Which author wrote “Jane Eyre” ? ] o
(A) Emily Bronte (B) George Eliot (C) ¢Anne Bronte (D) Charlotte Bronte
147. T TH X AT SR HE R | SL)
A |« . (B) = (C) @t (D) THTHuH
Twitter is a “ based communication platform. © ‘ '
(A) Email _ (B) Chat ) Br1p . (D) SMS
| 148, T fogerE S forer 3T 3 W A HAT @ 2
(A) = RUERSIC I - (C) divTeRT (D) W=
India shares the Lipulekh Pass with which country ? '
(A) China (B) Pakistan ' (C)- Bangladesh (D) Nepal
149, 30T T & - T HT STANT AT ST R 2 &
A) o ®) ffe C O®F® . oy W
Which currency is in use in South Korea ? b
(A) Won ~ (B) Ringgit (C) @uan (D) Yen
150. ; .
__Wag@m%“ﬁiwmmm%%m%w&m%
(A) TEIR (B) HITa (C) @R D)
attack is where a computer system or netwo l((ﬁg i i .
(A) Hardware (B) Malware C )r ;’hl‘n}ff‘mted with a computer virus.
1Shing (D) Software



